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More Stoichiometry Practice
CH4 (g) + 2 O2 (g) --> CO2 (g) + 2 H2O (g)

1. Using the equation above, if you started with 10.0 grams of O2, how many grams of CO2 would be produced?

2. Using the equation above, if you started with 10.0 grams of CH4, how many grams of H2O would be produced?

3. Using the equation above, if you ended with 50.0 grams of CO2, how many grams of CH4 must have been used originally?

4. Using the equation above, if you ended with 50.0 grams of H2O, how many grams of O2 must have been used originally?

3 Mg(OH)2 (aq) + 2 H3PO4 (l) --> Mg3(PO4)2 (aq) + 6 H2O (l)

5. Using the equation above, if you started with 40.0 grams of H3PO4, how many grams of H2O would be produced?

6. Using the previous equation, if you started with 30.0 grams of Mg(OH)2, how many grams of Mg3(PO4)2 would be produced?

7. Using the previous equation, if you ended with 20.0 grams of H2O, how many grams of Mg(OH)2 must have been used originally?

8. Using the previous equation, if you ended with 10.0 grams of Mg3(PO4)2, how many grams of H3PO4 must have been used originally?

2 LiOH (s) + H2SO4 (aq) --> 2 H2O (l) + Li2SO4 (aq) 

9. Using the equation above, if you started with 30.0 grams of LiOH, how many grams of H2O would be produced?

10. Using the equation above, if you started with 40.0 grams of H2SO4, how many grams of Li2SO4 would be produced?
11. Using the equation above, if you ended with 20.0 g of H2O, how many grams of H2SO4 must have been used originally?

12. Using the equation above, if you ended with 50.0 g of Li2SO4, how many grams of LiOH must have been used originally?

Answers (in random order)
6.88 g    7.48 g    18.2 g    21.8 g    22.0 g    22.5 g    22.5 g    32.3 g    44.9 g    45.1 g    54.4 g    88.9 g    
